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1. The French failed to establish power in the Deccan because:

O Duplex was not a capable general

O The English had a strong army

O The French were not liked by the Indians
O Pondicherry was not a strategic centre

2. Who among the following is considered the founder of French Company in India :

O Richelieu

O Mazarin

O Colbert

O Franco Martin

3. Who among the following was the first European to initiate the policy of taking
part in the quarrels of Indian Princess with a view to acquire territories?
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O Clive

O Dupleix

O Albuquerque

O Warren Hastings

4. Which English Governor of East India Company in India was expelled by
Aurangzeb -

O Aungier

O Sir John Child

O Sir John Gayer

O Sir Nicholas Waite

5. Which one of the following was the immediate cause of the First Carnatic War?

O Anglo-French Rivalry

O Austrian War of Succession

O Issues of Carnatic Succession

O Capture of French ships by the British



